domi

outdoor living

12'x16' WOOD-LOOKING FINISH
HARDTOP GAZEBO WITH DOUBLE ROOF

ASSEMBLY MANUAL

Missing part?Damaged?Contact us via emali at

domiservice0l@outlook.com

© copyright



< 481cm/15.8'

B
L

363cm/11.9'

g— 30x30cm/11.8"x11.8"

l ; 15cm/5.9"

333cm/10.9'

}

F 3

451cm/14.8'




AQ; J1 & J2 6@
|Y Il{ @ _ (@ V1 & V2 @2
== B@
e e & ] il
B “ “
B1 &2
‘) V&d
L
B2 & |
|{ M@
Ef - = Lt (D o
2 VIED VAKD V5K V6&D
—
C1 &2 o
C2 = = o
= D@, »
i 2 W4 W5 2
@)
D1a - —
D2 &2 Q1 & Q2 &
”EH /1
{ @R® s@
[FI T
%E@ ) T1 &
I
E1 & Ela @ - il il
U1 Gd
p— N
F &
dﬂb WIGD W2&D W7 & ws &2
LT j:@ > >
H & H1




mﬂﬂm | IS

X1&@ X2 X3 X2 X4 &2 X5 &2 X6 X2 X7 &2 X8 X2 X9&x2 X10&D

...... LiL " S Yia@ Y22
Yb G2

Y 7
Z &2 971D L 73D
- N0 1 Z2 @ <= — 24D

1#
{ I M6x16 ¥

{ [T M6x20 =

x16

[ =

x16

&35 o
x128

M6x28 ?;4

6#
§——mm @) Mox45 i

) —))) ] ) M6x50 .

8#
fmm  wsx16 ot

o#
> ST4.8x13 o
=) M6x25 10#

x4

MBx10 112
@ x1 | x1 @ ) X1

F x1 @ ,







[ 7 7 7 M MNERTEM i
= / Bx2 | — C®@ — - m— 7.

B1 &2 C1 &2 1#
B2 x2) C2 &2 - x120
= / D& £ = E®

D1 &2 E1 x2




24 - 3#
frmm %6 i Jm e




2 U1 x4




4 (H2xD

o#
x24

8#
x4

. HO®

]

=
L= .,G@




S CEETL) qU9989F . [ . GUOUUG SCEITLT:
/ / T \
Ty \ A% e
4#
x7 x7 H1 x7 x7
@
LI T B CUE T 1 B AR U T L I 1 5 B UL T L EL T
4# 4# T 4# 4#
x9 x9 o x9 x9




."
K
xD
Q
x2
- —
oy
o/ M
R )
b
fm
Jil
1#. P
&
2




Parts Required: ~  Nx

J e r.:;gztn

D T Step 9:
1# (X4 Attach roof bar (Part N&N1)to

main frame using screw 1#.




m T 1# {3 Y
Q1x2 Q22 IHLWL @ EI_’I,I'II Il

— - 1
."’.
/
|
/
/
N Q ’
/
/
o

Step 10:

Attach net frames (Part P1,Q1&Q2) to finishing bars (Part P &Q) using screws 1#&11#
as shown in diagram.

;"’j N-I.{i::f ; Ql

N




//\W







T1 X2 T2 %2 ﬁ R G { o 1’:2




- — —= U@ e = By EE D e 1#
— — U2 x4 Us x2 U3xd U4 x6

x32
U2 : U1
usq | Z
2 A U
2 2 e - et
U2 == '
D ST P
®
At | vz N
@ @










Overall roof assembly:

Please put the panels on the frame anti-clockwisely

Connect roof as below: W







Y2a

Y1a/Y2a

Y1a

4}

Y1 &2 Y2 Y1a@ Y2a&
............................ o e ) .
n n L aaa—" = .
LTI T,

= = . < &i\
_ .
| | il : - |
'/py | T w\
7 TN
=T} 1
AL \




Yla/Y2a —

Y1a/Y2a

¥1/Y2
Y1a/Y2a




domi

outdoor living

RESORT COMFORT IN YONR
OWN BACKYARD

Thanks for your purchase.

At domi outdoor living, we believe in our products.
That’s why we provide a 12-month warranty and
friendly, easy-to-reach after-sales service.So if you
have any questions about our product and assembly-

,please feel free to contact us.We will be here for you.

Support: @

email:
Please tell us your order ID when contact.

Attach photos of damaged part for instant reply.

© copyright




